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There are 4 ffour) questions. Question no. 1 is compulsory. Answer anT 2 from question 2. 3
aMI!. The figures in the right margin indicate full marks. Cos and POs are also speci-me righ{
margin of the questions. The symbols have their usual meaning.

1. (a)

(b)

Define rotational stiffness and derive the stiffness factor of a beam
element having its far end axed.
Analyze the frame shown in Fig. 1 using moment distribution method
and determine the moments at each joint of the frame. The moment of
inertia of each member is indicated in the figure.
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Fig. 1 for Question 1(b)
AnaIYze the beam shown in Fig. 2 using flexibility method and draw the
shear force diagram and bending moment diagram.
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Fig.2 for Question 2(a)

(b) AnaIYze the frame shown in Fig.3 using flexibility method
determine the moments at each joint and reactions at the supports.
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Fig.3 for Question 2(b)
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Fig. 4 for Question 3

4. Analyze the frame shown in Fig. 5 using moment distribution method and

determine the moments at each joint of the frame. The moment of inertia of each
member is indicated in the figure.
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Fig.5 for Question 4
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